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Homework — Significant Figures and Scientific Notation

Determine the number of significant figures for each nl‘lhe following.

I. 5432 L 6. 40319 5 1. 146 32 16, 3285 4
2. 0189 2 7. 4293 12. 2873.0 -  17. 999 3
3. 00023 ) 8. 144 2 13. 2500 ‘3 18. 2500.0 ¢,
4. 1.04 2 9. 3508 4 14 8365.6 o 19. 4857193 1
5. 7500 . 10. 7500 3 15 0920 5 20. 0002300 <
foas 4 45
Using significant figures, calculate the fnlluwmg addition_and subtraction problems.

l. 12em+ 0031 em+7969cm=__ 2000 0 A0 tm
2. 0.085cm+0.062cm+0.14cm=_ . 24 ¢y

3. 3.419g+3.912g+7.0518g+0.00013 g= |4 2530,

4. 87g+1543g+19g= »f-r?)(a. i

5. 143.0 ml+289.25 ml + 107.85 ml= _ U0 | ml \LIC.) s
6. 41.025cm-2328em=_|1.)5 0 ‘
7
8
q

. 289g-43.7g= '{u;fx - '3\‘1 CI

145.63 ml — 239ml~"t"|l_r lmh —_— —
. 6247g-399g=__ 373 Ln Gy
10. 40.08 ml - 29.0941 mi= | Hf’i M -

Using significant figures, calculate the following multiplication and ion
problems. :
I. 289cmx4.0lem=_\llpen
2. 173 emxGHm= _\DCon™ 01 = W0
3. 308mx12m=_31m* 1
4., S.00mmx 73216 mm = _jl.f' g p W 'r“\r’) .\Ut S‘l&fﬁfu.d
5. 208dmx 123.1dm=_ 2500 AmM™ , -
6. 8.071cm'+4.216em=__1 WU 0 ’ms%%’ AL
7. 247894km*+435km=__ 50, b " m*

.ﬁ‘ . .

; (3 =7 N < m - -

8. 109.3758;m*+ 583 m=__ 3. 54 : m <K
9

10.423m* = 18491 m=__ (2 m

mmz-z- 82 mm = '] LA
. 6.058 0.85 . .l M fﬁ_%,“,’ﬁ _-_;\%,‘E,'J_
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Sing ll IS
Convert the !'ol.hwing ta anl potations to scientific notation.
1 28000000 204k 6. 62,500 lp, 25 x 10 & )
2 305,000 2 s X 1D 7. 0.002403 AMOD A VD >
3. 0000024863 3 Uik 10 - 8. 8.809.000 5 0O x 1u
4. 345.23 24503 x \0* 9. 0.251 .51 X 10"
5. 0,0002 .5 K107 10. 3,010,000 2 Ol 10
Convert the following scientific notations to standard notation.
. 8.54x10" {5HD,000,000000 6. 3.86x 10" 2 %0, CLO, 00D
3 zllmxm’ e | 7. 2511 x 107 . (LOOLD 34651
3. 3.051x107 205 61 0P 8. 4.820x10° o 3T, OOt
4 $94x10* (OO M 9, 2.88 x 10° X4%, 000
5. 827x10° £ nu 10. 4.05x10? O, CMD9
Calculate the following addition and subtraction pmblems.(Renrmber S;g Figs.)
I (120 x 10%) + (3.600 x 10%) + (4.5000 x 10 = <+ T/ Q0 vt
2. {7110‘)+{65x10")+(49x10")— rlxm
3. (53x10")+(1.32x 10" =_HYx i
4 (12x10Y+ (.1 x 107 +(7.969 x 109 = _Sfkn™
5. (85x10%)+(6.2x109+(3412x10%) = _"1.1X ot

- s o Ada ~ G >

6. (8.523x10%)—(6.27x10") = Ma S & KIO
7. (325x10%)-(4679x10%=_2 25x10 ™
8. (6.452x10%—(5.352x10% = j}tl‘mlﬁ;‘f’ "
9. (62x10%-(6.18x10%=_5 lr MD

10. (2.89 x 107) - 437 x 109 =_2.54 x/0”

Calculate the followin mnhlpiunou and division problems.(Remember Sig. Figs.)
. (6x10% x(4x 10*‘% A x 10

2. (32x10)x(3.332x10%) = \.mo'

(5.432x 104 x (3.67953 x 109 = _| 964G u()“
(9.8670 x 10%) x (2.1 x 107%) = :1 | xI1D
(7,26 x 107) x (5.0030 x 109 =_2 w3 X 10"
(7.7x109(.1 x 109 =_"L0 xiu‘*
(8.53x 10%(5.0x 100 =_L. Ix 10"
lq.sleu*p(?..ixlo“’)- 204107
2.1 x100@.56x109=_1.5 < 10"
(6.4x107)
10. (8.4 x 10*)(14x10%) = amp®

(4.367 x 10%) D
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